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PHYSICAL EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Gladiator sport was the most popular
past-time of the people of

(A) Athens
(B) Sparta
(C) Ayodhya
(D) Rome

John Dewey propounded the
philosophy of

(A) Pragmatism

(B) Naturalism

(C) Idealism

(D) Humanism

The  psychomotor domain of
Physical Education is concerned
with

(A) Knowledge

(B) Attitude

(C) Motor skills

(D) Values

The five interlinked rings of five
different colours of the Olympic flag
reflect

(A) Unity of the world

(B) Brotherhood of Mankind
(C) International Cooperation
(D) Globalisation

An ectomorph individual has a
(A) thin and slender frame

(B) bulky and stocky body

(C) muscular and athletic frame
(D) body beautiful image

Paper-1I

Match List — I with List — II and
select the correct answer using the
code given below :

List - I List — IT
I. Activity 1. Pragmatism
undertaken for
pleasure

II. Experimentalism 2. Growth
after the name of
John Dewey
III.View point that
looks upon
nature as prime 3. Naturalism
mover of all life
activity.
IV.Structural
increase caused
in body by 4. Recreation
biological
process
Codes :

(A)
(B)
©
(D)

W B~ B~ B~
e \S)
o W N W
—_ N W =

The heart muscle is called
(A) Pericardium

(B) Endocardium

(C) Myocardium

(D) Epithelium

Mitochondria plays an important role
in cell respiration and

(A) Elimination of CO,

(B) Metabolic function
(C) Production of energy
(D) Neuro transmission
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10.

11.

During very strenuous exercise, the
major reason for the onset of fatigue
is

(A) CO,
(B) O, debt
(C) depletion of O,

(D) lactic acid formation

Football players wuse anabolic
steroids in order to increase their

(A) lean body mass and strength
(B) ability to concentrate

(C) power to kick the ball

(D) speed and tackling ability

Match List — I with List — II and
select the correct answer using the
code given below :

List -1 List - II

I.  Source of energy 1. Anaerobic
during all out metabolism
sprint

II. oxygen deficit 2. Myoglobin
increased during
exercise

III. Oxygen storage 3. Recovery

in the muscle period
IV. Rest pquod 4. Oxygen
immediately
. debt
after exercise
Codes :
I nm 1m 1Iv
(A 1 4 2 3
B) 1 2 3 4
<) 4 2 3 1
(D) 4 1 3 2

Paper-1I

12. The direction to which force is

13.

14.

15.

applied by a thrower to the shot

determines

(A) The angle of its release

(B) The velocity of the shot

(C) The angle of release and its
velocity

(D) The total motion of the shot

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : In the first class
lever the location of the
fulcrum can change relative
length of the force arm and the
resistance arm.

Reason (R) : Fulcrum is placed
between force and resistance

arm.
In the context of the two
statements, which one of the

following is correct ?
(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).
(B) Both (A) and (R) are true, but

(R) is not the correct
explanation of (A).

(©) (A) is correct, but (R) is
wrong.

(D) (A) is wrong, but (R) is
correct.

Exercise related stress fractures

occur in bones

(A) Below the Knee

(B) In the spinal column
(C) Above the neck

(D) Inthe arm

A person’s posture stays upright as
long as there is a perfect balance in
his body of

(A) endurance and strength

(B) agility and speed

(C) speed and strength

(D) strength and flexibility

J-4710



10.

11.
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12.

13.

14.

15.
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16. When centrifugal and centripetal
forces balance each other then the
hammer will

slow down considerably

remain in rotation

(A)
(B)
©
(D)

move faster
not move at all

17. Match List — I with List — II and
select the correct answer using the
code given below :

L

IL.

List -1

Flexion

Abduction

III. Extension

IV. Circumduction

Codes :
1 I III
A 1 2 3
B) 2 3 4
< 2 4 3
D) 2 4 1

18. Which of the following is

correctly matched ?

(A)

(B)

©

(D)

Paper-1I

An imaginary
surface through
which a
movement

takes place.

An 1maginary
surface which
divides the
body into
superior  and
inferior part.

An imaginary
surface which
divides the
body right and

left lateral
aspects
An imaginary

surface which

divides the
body into
anterior and
posterior
aspects.

List — II

1. Combination
of all
movements

2. Reduction of
angle at the
joint

3. Increase in
angle at the
joint

4. Movement
away from
the mid line
of the body

|
3

not

— Plane

— Horizontal
plane

— Sagittal
plane

— Sagittal
plane

19.

20.

21.

22.

Match List — I with List — IT and
select the correct answer from the
code given below :

List -1
I.  Escape

List - II
1. Anger
II. Combativeness 2. Fear
III. Curiosity 3. Creativity
IV. Construction 4. Wonder

Codes :
I I 1 Iv

(A)
(B)
©

2
3
1
D) 3

4
1
3
1

D=
N A~ W

School of Psychology most closely
related to Learning theory is

(A) Gestalt school
(B)
©
(D)

Cognitive school
Behaviourist school

Psycho analytical school

Within social groups the statistical
study of behaviour and relationship
is known as

(A) Socio matrix

(B) Socio-diagramming
(C) Socio programming
(D) Sociometry

Interpersonal relationships amongst
team mates once established always
remain

(A) Dynamic
(B) Fixed

(C) Permanent
(D) Consistent

J-4710
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19.

20.

21.

22.

T — 1 o g — 11 9 Aferd iy 3R

TS T8 i & TR W HEl W A1 997
HITTT

et - I et - 11
| O 1 S -
I SEmed 2. 99
Il 9 3. gemeshal
Iv. fmmor 4. I
FT :

I I I Iv
A) 1 2 3 4
B) 2 3 4 1
< 2 1 4 3
™ 4 3 2 1

o fagra 9 Sfusaw  TEtad

eI Thed &

(A) TREICE Tl

(B)  HIAATHS Tpet

(C) HATERES! Tl

(D) HAIIRA TaeeTToT Whet

fret wmfser gl % SRR 3R
LT o QieTeh! 3Tea ol e &
(A) TSt HigeR

(B) WHTS-3TTHIT &

(C) HmfSTeh WA

(D) HHISIH

29 & fgeiedl & 99 T IR F=R-
FfereTeh T g Ty 9 T8 €

(A) et (B) e
(C) Tl (D) UEHEY

Paper-1I



23.

24.

25.

26.

Which of the following statements is
not correct ?

(A) Physique is the primary
dimension of human
personality.

(B) Emotional dimension of an
individual singularly
determines his personality.

(C) Human personality loses its
meaning if conceived without
the mental and intellectual
dimension.

(D) Sociability is a very important
dimension of personality.

In implementing a curriculum of
Physical ~ Education the least
important facility is

(A) Swimming pool
(B) Standard track

(C) Human performance
Laboratory

(D) Indoor multipurpose hall

Elementary  school  curriculum
should stress on

(A) Skill education
(B) Awareness education
(C) Movement education

(D) Fun education

The factor that most adversely
affects teacher education in Physical
Education is

(A) Government policy

(B) Non-uniformity of curriculum
(C) Lack of employability

(D) Lack of leadership

Paper-1I

27. Match List — I with List — IT and

28.

select the correct answer from the
code given below :

List - 1 List - 11
I. Time-table 1. Course of
study offered
by an
institution.

II. Syllabus 2. A document
including all
the learning
experiences
provided for
students.

III. Curriculum 3. Outline of
contents to be

taught.
IV. Professional 4. A document
ethics showing what

is to be done
by whom and
at what time.

Codes :

1 I I 1Iv
(A) 4 3 1 2
B) 3 4 1 2
< 4 3 2 1
D) 3 1 2 4

Which one of the following is not
correctly matched ?

(A) A traditional — Vyayamshala
exercise club

(B) Allotment of — Macro
periods of scheduling
instruction,
practice,
participation
and
competition

(C) Yearly calendar — Macro
of academic or scheduling
sports events

(D) Abilities to — Athletic
perform skills
fundamentals
of sport

J-4710
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29.

30.

31.

32.

Milk, butter and ghee provide

(A) Vitamin B & C

(B) VitaminE & K

(C) Vitamin A & B

(D) Vitamin A & D

Required ratio of carbohydrate,
protein and fat in a balanced diet for
a body is

(A 1:1:1

B) 3:1:2

€ 4:2:1

D) 4:1:1

“Carbohydrate loading”
athletes means

(A) Spending energy during hard
physical workout.

Generating energy per unit of
time.

Getting energy from the blood.
Storing energy in muscles.

used by

(B)

©
(D)

Given below are two statements as
Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : The sensory
organs provide an
index of general
health status.

: Skin is an
important index of
health because it

Reason (R)

responds to
circulation,
excretion, toxins

and bacteria etc.
In the context of the two statements,
which one of the following is
correct ?

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

Paper-1I
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33.

34.

35.

36.

Cardiovascular system can be best
trained for performance in endurance
events by engaging in

(A) Yogic exercises

(B) Anaerobic exercises

(C) Aerobic exercises

(D) Ballistic exercises

Match List — I with List — II and
select the correct answer from the
code given below :

List - I List — IT
I. Strength 1. the ability to
express force
many times
over.

II. Maximum 2.
strength

the greatest
force that is
possible in a
single
maximum
contraction.
the ability to
overcome a
resistance with
a fast
contraction
ability to exert a
force against a
resistance

III. Explosive 3.
strength

IV. Strength 4.
endurance

Codes :
1 I I 1Iv
(A 1 2 3 4
B) 2 3 4 1
< 4 2 3 1
D) 4 3 2 1

In an Indoor Volleyball match the
minimum clear height requirement is

(A) 1lm
(B) 12m
(C) 125m
(D) 13m
The performance area for floor
exercise in gymnastics is
(A) 10m x10m
(B) 1lm x11m
C 12m x12m
D) 15m x15m
J-4710
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31.

32.
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37.

38.

39.

40.

How many timeouts are allowed in a
foot-ball match ?

(A) 2
B) 3
© 1
(D) None

Match List — I with List — II and
select the correct answer from the
code given below :

List -1 List - II
I.  Flexibility 1. Skin Fold
calliper
II. Vital 2. Dynamometer
capacity
L ]cB(fr?lgosition 3. Goniometer
IV. Strength 4. Spirometer
Codes :
I nm o Iv
(A) 3 4 1 2
B) 3 1 4 2
<©) 3 2 4 1
D) 2 1 3 4

Which of the following is not used in
case study ?

(A) Observation

(B) Measurement

(C) Interview

(D) Personality Inventory

Null hypothesis is also known as
(A)
(B)
©
(D)

Research hypothesis
Statistical hypothesis
Alternative hypothesis
No difference hypothesis

Paper-1I
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41.

42.

II. Variability 2.

IV. Variance 4.

Match List — I with List — IT and
select the correct answer from the
code given below :

List - I List — II
I. Central 1. An estimate of
Tendency the variability of

scores of a group
around the mean.
A single score

that best
represents all of
the scores.
III. Standard 3. The degree of
deviation difference

between each
individual score
and the Central
Tendency score.
The square of the
standard deviation.
Codes :

I Im m 1
(A) 2 1 3 4
B) 1 2 3 4
<C 2 3 1 4
D) 2 4 1 3

Match List — I with List — II and
select the correct answer from the
code given below :

List - I List — IT
I. Correlational 1. Technique of
Research descriptive

Research to
determine present
practices or
opinions.

II. Survey 2. Research that

explores relativity
between variables.

[II.Developmental 3. Same participants

are studied over a
period of years.

Research

IV.Longitudinal 4. Study of changes

studies in behaviour
across years.
Codes :
I Im mar 1
(A) 2 3 4 1
B) 2 1 4 3
<C 2 1 3 4
D) 2 4 1 3

J-4710



37. Tedel 99 foha 2TEH-3TS i ST E ?
(A) 2
B) 3
o 1
(D) e &l
38. g1 = G-I ¥ gafed =it 2R
ST HIE & YR W el I Hl a9
HITTT
et - I et - 11
R E 1. & wies
FHiAR
. aTEed FUES 2. SE-HMER
I IRR =T 3. MR
V. arehd 4. TTEIH
HE
I I o 1Iv
(A 3 4 1 2
B) 3 1 4 2
< 3 2 4 1
D) 2 1 3 4
39. ffcfad § 9 i 91 g =St | uged
T Ee ?
(A) IARA
(B) W
(C) JrgcehiR
(D) =Afekefess it
40. 3T URPHCIT I g W FEA €
(A) T URSHIT
(B) WiftTent giiereaT
(C) TehfcTsh TNEheTT
(D) 3T N
J-4710
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41.

42.

T — 1 st gt — 11 9 gaferd sifs 3R

S i o MR W el SR T I3
Tt -1 et - 11

[. HSIYAU 1. HTET o AGATE
Tohell 76 &
TIIeTdT 37ehT T

|

1. fo=etar 2.%6{%%
Y ST FalH
Tehol 3ieh |

L 59 faae™ 3. Ucdeh adfeden
3 AN He
TSIOTeT 375h
o fafyy=rar =t
feur |

IV. 3=} 4. AT T foaet
Eak=oprll

HIE

1 Im 1 1v

A 2 1 3 4

B) 1 2 3 4

o 2 3 1 4

D 2 4 1 3

T — 1 &t gt — 11 9 gaferd sifs 3R

U i o MR W el ST T T
IS
et - 1 et -1
I Se-geid 1.aﬁtr|?r%wmﬁaﬂi
SESLIN] CEIR TR
ETCH Ea)
s o P
ST l
II. HIeTT 2. fogemt & dH
[OAAT  hl AT
T AT ST |
1. feepraredss 3. %mgaﬁ
STEY T ek & 91T
I = B [ )
%GW%WTFHHT
|
IV. F=RM 4. %3 U o HGER
T b= B (| = )
T |
HIE
I I I Iv
A 2 3 4 1
B) 2 1 4 3
o 2 1 3 4
™ 2 4 1 3
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43.

44.

45.

Which one of the following is not
the test of muscular strength ?

(A) Kraus Weber Test
(B) Roger’s Test

(C) Phillips JCR Test
(D) Tutle pulse ratio Test

Some of the AAHPERD are
Physical Fitness Test items are

(A) Pull ups, sit ups, shuttle run,
standing Broad jump, 50 yds
dash

(B) Pull ups, sit ups, shuttle run,
running Broad jump, shot put
throw.

(C) Pull ups, sit ups, shuttle run,
push ups, 50 yds dash

(D) Pull ups, sit ups, shuttle run,
push ups, softball throw.

Match List — I with List — IT and
select the correct answer from the
code given below :

List - 1 List - 11
I.  Humerus 1. Bones of the
fingers
II. Femur 2. Bone of the
thigh
III. Carpals 3. Bones of the
wrist
IV. Phalanges 4. Bones of the
upper arm
Codes :
I Inm ma 1Iv
(A 4 3 2 1
B) 4 2 3 1
< 4 1 3 2
D) 2 4 3 1

46.

47.

48.

49.

50.

The autocratic leader

(A) allows subordinates to take
decision

(B) seeks opinion of subordinates
(C) directs subordinates

(D) involves subordinates

The time elapsed between the
moment of application of a stimulus
and the moment of first response is

(A) Reaction time

(B) Movement time
(C) Response time
(D) None of the above

The greatest normal load is called
(A) Maximum load

(B) Over load

(C) Crestload

(D) Normal load

BMI (Body Mass Index) is given by

Wt in kg
(A) Ht’ m
Wt in Ibs
Ht2 in
HtZ m
wt in kg
HtZ in
wt in Ibs

(B)

©)

(D)

Split half method is used to test
(A) Validity

(B) Reliability

(C) Objectivity

(D) Administrability



43.

44.

45.

fefafea & @ S 91 qiguiEr st
ATehd T TRIET0T TET & 2

(A) T R TRIETOT

(B) ISR TdietoT

(C) TRfeTey SIeTR Titefor
(D) S To AT TRIEToT

3T (AAHPERS) JaT SIRINER e
TRIET0T % D T E

(A) Yo 3T, T2 370, Yo T, TreT
Fre 57, 50 TS B9

et 31e, e o1wy, ved @, I
e ST, 9iie g2 ot

(B)

I 3T, e o1, vedt , IO
3T, 50 ATE S

I 3T, e o1, vedt , IO

©

(D)

T — | 1 gt — 11 9 gAferd Hife 3R
S IS & IMER W TEl 3T H Ia7

HITSTT
T -1
I TRy
II. B
I11. STiey

IV. Thoistst

= - 11
1. ifera st sireert
2. SteT ! ey
3. THelTE i e

4. FW & M @
arert

S :

(A)
(B)
©
(D)

[\ T SN N L
o= W
W W W N
—_— N =

46.

47.

48.

49.

50.
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Tehd=ig =T

(A) erdiet &t o o o SrHia
AR |

(B) e & foam ermfed ohen
g

(C) el i feeraane |
(D)  STITEAT ol T TR AT & |

frdl ST fFr & e R 3T
TOEET TIH TishaT o &g ol 3TIel &

(A) UdTsHaT 98
(B) &oTact o1 @HA
(C) T T wHA
(D) YU H | HiE Tl

TehAT THT R i e &
(A) 3ATHaT IR

(B) 3HYR

(C) < ¥R

(D) WHE YR

St TH g (ST W o) Wi SR

SAATE

Wt in kg Wt in lbs

A THem ® THein
HtZ m Ht2 in

© wt in kg (D) wt in Ibs
=te g% ugia &1 W forg aleqor &
fu grar e ?
(A) Ear
(B) Torvag=aar
(C) aEgrTssar
(D) vRTERE T
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